Predictions for yeast secretory pathway spotting experiment:

Please fill out the following chart with your predictions for the experiment you are setting up today, using the following key:

AG (abundant growth), G (some growth) or NG (no growth)
Please also include all appropriate symbols to explain your growth choice:

PT = permissive temperature

NPT=non-permissive temperature

BPT= borderline permissive temperature

-S= can not synthesize an essential nutrient missing from media - Name which one: U , H, or both UH

+S= can synthesize essential nutrients missing from media and keep available where needed in the cell - Name: U, H or UH

-SR= can synthesize missing nutrients, but an essential nutrient is removed from the site where it is needed in the cell- Include the symbol for the missing nutrient U, H or UH (both)
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Key to Symbols: SEC+ = Yeast strain LY527 MAT( SEC+ ura3 his4 ; V= vector plasmid Yep24 with URA3 but lacking HIS4 ; sec61 =yeast strain LY651 MAT( sec61-1 ura3 his4 ; sec18= yeast strain LY689 MAT( sec18-1 ura3 his4; + means transformed with ; pRSB203= plasmid RSB203-Yep24, a control plasmid with HIS4 not fused to a secretory signal sequence ; pRSB204= plasmid RSB203-Yep24, a plasmid with HIS4 fused to the alpha secretory signal sequence.
